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26b (1 mwn) 2>27b (570p)
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I Yy mwn: consequences of variations in spending 2 m»%o for WK (which is obligated by n1n —see v. 3 — "09pV”)
a  if he set aside 2 n’y5v for an nwWR and bought two rams with that money
i if one of them was worth 2 D'»ov, offer that one up and the other grazes and its 1779 goes to nam
b  if: he misused funds and spent them on two rams for his own use; and 1 was worth 2 and the other 2.25 (n%yn+wnin)
i then: the one worth 2 is brought as his oWy, and the other as his "n>yn”
¢ if he partially misused funds and bought 1 for nwr (worth 2) and the other for p>1n (worth 1)
i then: he brings the one worth 2 for his nwx and the other for his "n%»’yn” along with 1.25
1 meaning of “n5’vn”* in case (b), must mean “his theft” i.e. what he misuse; but in case (c) it means “his n%yn nwr”
2 resolution: in case (b), the more expensive one covers wmm j7p — he calls that "n%yn”
(a) however: in case (c), the less expensive one is the payment, he refers to the nwx “n%yn”
II  x7 72 ®WIN's question: can you use an accumulation of pwmn (from multiple m>yn) for an M yn DWR?
a  disconnect from issue of w1777 nawa 7920, even if we may use w1pn naw (see below), perhaps we cannot use DwNIN VI’
i reason: he worked to appreciate the wTpn, but not to accumulate pwmn
ii  and: even if we may not use WTpn Naw, we might be able to use PWMN VIV, as they were set aside for nY’yn-payment
b background: question was asked whether a person may use wTpn naw for n72s
i suggested answer:from our mwn; since he may use ram bought for 1 5o (2 for 2 n’»5v) for DWR >may use YVIpN NIV
1 rejection: in this case,the shepherd sold it to him under market value (i.e. it was already worth 2)
ii  suggested answer: 0:7 MmN RnNaovn — if he bought a ram for 1 and fattened it to a value of 2 —valid as Dwr
1 rejection: since he fattened it, he indeed spent 2 n'y5v (1 for purchase, 1 for fattening it up)
iii  suggested answer: (ibid) — if he bought a ram for 1 and it is now worth 2 — it is valid
1 rejection: that is also a case of him expending to increase its value
2 challenge: why repeat that ruling (same as xw»)?
(a) answer: RV™ was a case where he spent 1 y9v to buy it and another 1 to add value (fattening it up)
(i) and: R0 is a case where he spent 1 to buy it and % yYo to fatten it up — but its worth is now 2
(ii) challenge: in that case, Rnavin adds that he must supplement the cost — y5>v 5w’
1. but: according to that k>R, he should only have to add ¥4 oo
2. answer: indeed, “paying a ¥90”means that he must make up the rest of the 5o (y>0 mbwn) = V4 pHo
(b) but: if we hold that one may not use w7pn naw for Ma3, adding the ¥4 shouldn’t help - the %’x isn’t worth 2
(c) answer: the author of the xnavin holds that he may use v1pn naw
(i) if so: why does he need to add %4?
(if) answer: precaution against people thinking that a ram worth less than 2 5o may be brought for nwx
iv  conclusion: » bW Rnavn — if it was worth 1 at designation and 2 at time of 1793 — invalid
III series of questions asked by 8™ of 3 "7 (in #1&#2, 13m "1 was astounded that X" hadn’t heard the answer from him)
a w77 nay: may it be used for na3
i jprr 7 had taught that n1n 75 or NN NN could be used fully as nmin (if index T hadn’t yet been brought)
b o7n ’5p23 717 are animals which are rejected while alive fully nmnm?
i prr 77 had taught ruling about animal owned by 2 partners in which 1 is w1pn his half — animal is utterly nnm
1  note: ruling teaches that there is "7 in ©'n7; there is "7 ab initio and there is »n*7 in 0PN Y2
¢ value of o?x: if worldwide market value depreciated and rams cannot be found at 2 '»5v — can he bring at less?
i lemmal: we require “the best” (v. 2) OR
ii  lemma2: we require D9pw qUl (v. 3 — 2 DYYHV)
iii 2177 /7. had taught in »”2v7’s name: reason NN didn’t give minimum for 7793 »Y0I1NN — in such a case — no solution
1 implication: if there is a specific minimum, it is indispensible
2 however: 11y "1 hadn’t been asked about it (therefore he didn’t teach it > 8" hadn’t heard in w1711 n’3)
3 challenge (72aX): if so, there should be a minimum for a9n nron (doesn’t impede DWTP NYIR)
4 challenge (¥37): if so, (xnv) 111 DWR should have minimum - it serves no purpose — R'Wp
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IV 1 mwn: singularity of purpose of nxkon
a  if he sets aside a nkon and dies, his son may not bring it in his stead
b and if: he set it aside for 29n he ate one day, he may not bring it for 25n (same sin) eaten another day
i source: mron Yy ..1117p (v. 4) demand that it must be his own and designated for that sin
ii  129p must be designated for a specific Ron
iii ~ A7272127) — must use his own
1  not (even): his father’s (from 111p)
(a) ewven: if his father and he had both violated a “light” or “serious” sin
(b) even: if his father had set aside funds for purchase of nkon — (as he may do with myn set aside for var nym)
(c) ewven: if his father had set aside funds for purchase of nron of the same “grade” (nYp or nnN)
2 not even: his own for another sin (from 1MRON 5y...0121p)
(a) even: “light” for “light” or “serious” for “serious”
(b) even: using money designated for nron for 29n for purchase of o7 nxron
(i) explanation: in that case, there is n%»n (i.e. money is still liable for n%yn = R”10 he could achieve n193)
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